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Review Stoichiometry 

For the following question there is something wrong. Your job is to find out what is wrong and fix it.

The conversions below are incorrect. Re-write them so that they are correct.

	Incorrect
	Correct

	22.4 moles =  1 liter of gas        (true for gases at S.T.P.)
	

	1.01 grams H2  = 1 mole of H2
	

	6.02x1023 moles of copper = 63.55 g copper
	

	6.02x1023 moles of argon = 1 atom of argon
	


Iron can react with steam according to the following reaction:

3Fe(s)  +  4H2O(g)  [image: image1.png]


  1Fe3O4(s)  +  4H2(g)
In the 4 problems below, cross out any incorrect conversion factors and write what the correct conversion factor would be. (The 999 at the beginning of each problem is not a conversion factor so leave it alone.)

Assume the temperature and pressure are S.T.P. You do not have to answer the problem.
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1. Balance the following reaction and answer the other questions:

a.  _____C2H6(g)  +  _____O2(g)  (   _____CO2(g)  +  _____H2O(g)
b. Write five possible mole ratios.

c. If 3.00 moles of C2H6(g) are burned, how many moles of CO2(g) are produced?

d. If 2.34 grams of C2H6(g) are burned, how many grams of H2O(g) are produced?

e. If 2.56 grams of CO2(g) are produced, how many liters of H2O(g) are made at the same time if at STP?

2. Balance the following reaction and answer the questions:

a.  _____H2O(l)  +  _____SO2(g)  +  _____O2(g)   (  _____H2SO4(l)
b. How many moles of H2O(l) are needed to completely react 3.7 grams of SO2(g)?

c. How many moles of O2(g) are needed to use up 13.7 moles of SO2(g)?

d. How many moles of H2SO4(l) will be produced if 13.7 moles of SO2(g) are used up?

3. How many grams of H2(g) are made when 3.45 moles of Na react according to the following equation?

  


2Na(s)  +  2H2O(l)  (  2NaOH(aq)  +  H2(g)
